AQAComputing Workehes

Boolean expressions worksheet

Simplify the Boolean expressions below, using truth tables and/or De Morgan’s laws. The
first one has been done for you.

1 A+B.A

The truth table for this expression is

B A B.A | A+B.A | A+B.A
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The expression that gives a 1 in the firstrowis A .B

Using De Morgan, this equals A+B

which gives the expression A+B or ANORB

2 A.(B+A) 7 (A+AB).B

3 A.(A+B)+B.(A+B) 8 (AB).A+B

4 A+ (B+A) 9 A+B.C

5 A.B+(A+A).B 10 AC+AB+B.C+AC

6 AB+ KB_Jr AB Note: your truth tables for questions
9 and 10 will need eight rows, not
four.
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